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Rational Choice Theory



Review: Liberal Theory of Resource 
Allocation

• Assumptions
– Individuals desire freedom above everything
– Economic actors are rational
– Free, rational actors naturally create markets

• The model
– The market
– Non-coerced Exchange
– Private Property
– Division of Labor
– Markets clear through supply, demand, and price

• Goals and Effects if the model is followed
– Efficiency
– Growth
– Welfare
– Peace

• II. Economic Liberalism
• A. Assumptions
• The Individual is the key economic and political actor—
•

• Humans desire FREEDOM above all else.  Humans want economic freedom.  We are economic animals.

• Economic liberals attempt to explain economic, indeed all of human behavior on the basis of rationality. This means acting on a cost/benefit calculus.  

• Noone can possess complete information about the needs of society and economy.  In a society of individuals who are “free to choose,” Markets provide the best information in the form of price which immediately tells us the relationship between the supply of a good and the demand for it. 

• B. The model
• Free, rational human beings create markets.  They arise spontaneously 
• .  They assume that humans are economic animals and therefore markets evolve naturally without central direction.  It’s human nature to “truck, barder, and exchange.” Markets arise spontaneously to satisfy human needs
• A market is a social arrangement that allows buyers and sellers to carry out a voluntary—and that means “free” exchange of goods or services.  

• Free markets mean voluntary, non-coerced exchange

• The terms of exchange are wholly determined by supply and demand, not by the exercise of power and coercion.  If exchange is voluntary, both parties benefit.
• Free exchange leads to a division of labor and specialization of function and no exchange takes place in which both parties do not benefit.
• Free exchange brings about coordination in the allocation of resources without coercion.  
• To exchange a good there has to be private property---you can’t exchange something that you don’t “own.”
• when you engage in exchange you do it for your own benefit, --

• In a labor market, you are free to exchange your labor for a price --- called a wage—and you want to exchange it for the highest price.  

• Price is determined by the ratio of supply to demand.  The lower the supply and the higher the demand, the higher the price. The higher the supply and the lower the demand, the lower the price. 

• That freedom to exchange demands political freedom and decentralization so that there will be no coercion.  The market should be removed from politics.
• B. effects: efficiency, growth and welfare, peace

• For economic liberals, the creation of markets does not ensure economic growth for everyone, and it does mean that inequalities in income and wealth are likely to characterize social relations.  Inequality is likely to be tolerated in private economic relations because the growth that should ensue from the efficient allocation of resources will make all better off than they would have been in the absence of markets.   

Assumptions
Individuals desire freedom above everything
Economic actors are rational
Free, rational actors naturally create markets

The model
The market
Non-coerced Exchange
Private Property
Markets clear through supply, demand, and price

http://en.wikipedia.org/wiki/Goods
http://en.wikipedia.org/wiki/Services


Three important concepts

• Voluntary exchange is consensual and free

• Consensual exchange is efficient (no 
transaction costs because the exchange is 
mutually beneficial)

• Property rights are necessary (so everyone 
has something to exchange



How do Liberals feel about the role of 
the State?

Liberalism is classically defined as an attempt to limit the power of the state for the sake of individual freedom. Liberals, want to prevent government from oppressing individuals and 
groups. The essence of liberalism lies in techniques for taming absolute power.  

• This does not mean that liberal states are weak states.  No!  They are strong.
– —they have more capacity to mobilize resources. 
– Freedom of the press gives the state access to vital information. 

• States should have the power to defend the country from foreign invasion is usually mentioned first. But what should be the domestic powers of a liberal state? 
Liberals, for one thing, expected the government to provide security from private as well as public violence. In other words, they sought to create not only a police 
force, but also the mechanisms for monitoring and controlling the police. The liberal state was also expected to define property rights and enforce property law, 
contract law, and trespass law. No rules for the inheritance or conveyance of property existed in the state of nature; they had to be created by political means. Civil 
society, therefore, was society "civilized" by the state. The state imposed civilization on society, among other ways, by constantly breaking up spontaneous economic 
and social monopolies. 

• The liberal state should provide a whole series of public goods: canals, highways, safe water, street lights, sewers. State-help was conceived as providing the 
preconditions for self-help. This idea was nowhere more apparent than in liberal advocacy of subsidized education.

– Liberals are opposed to capricious and oppressive authority, not to authority in general. 
• state power as a means both to prevent anarchy
• and to enforce impartial laws (against the grain of human partiality).
• Because they assumed that political rulers will themselves be human, and therefore partial and potentially unjust, they also devised institutional 

machinery to contain authority within legal channels.  What Hayek means when he says “rule of Law”
• States must protect the private rights of individuals because personal security allows them (1) to exercise their virtues and realize their potentials, and (2) to 

participate without inhibition or fear in public debate and processes of collective self-rule. Citizens will not throng voluntarily to the public square if their homes can 
be ravaged

•Liberalism is classically defined as an a inttempt to limit the 
power of the state for the sake of individual fre iedom. 

•Does this mean they want weak states because the market 
allocates resources efficiently?

•In fact, Liberals want state power to do a lot of things. 
•All liberals agree that the state should protect the competitive 
market, protect property rights,  protect the right to be free

•Liberals aren’t opposed to authority, only to certain kinds of 
authority

•And only if States protect their rights, can individuals realize their 
full potential, and participate in collective self-rule



But should governments also….

• Take positive action?
– Intervene in markets when they fail?

– Regulate in order to minimize externalities? 

– Provide public goods?

– Provide social safety nets for those who cannot 
participate in market allocation?

• Liberals are split between those who want the 
government to protect the market and those 
who want it to take positive action



The split comes down to preferences for more freedom and efficiency 
(produces the ultimate social good) vs. more protection of equality and 

community (individual freedom can produce social “bads”)

• Freedom and efficiency preferred 
to equality and community

• Every time governments tamper 
with the market, they make 
markets less efficient and 
participants less free
– Freedom and efficiency lead to 

growth and welfare for all

• Markets don’t promise equal 
allocation of resources—in fact, 
that would be contrary to the 
idea of competition as the key to 
efficient market allocation

• They are not good at providing 
public goods or getting rid of 
externalities

• Equality and citizenship in the 
community is essential to the 
liberal idea

• Economic inequality can be 
tolerated but not if it leads to 
political inequality

• Provision of public goods 
enhances the sense of 
community

• All agree that the state should 
provide security to citizens and 
market actors---that means they 
should provide economic security 
as well—protection from 
externalities, social safety nets, 



Today’s Menu: The case for freedom 
and efficiency

• The rationality assumption

• Self-interest

• constraints 

• competition

• When is there a need for cooperation? 

• How do you get cooperation?

• and the role of the state in political economy:



Classical liberal assumption:  
Individuals are self interested

• Individuals are at the center of all social activity

• self-interest is not the same as “selfishness”

• self-interest is premised on the idea that all

• individuals have specific (“reasonable”) goals 
and that they behave in

• way that best enables them to achieve those 
goals



Assumption :  Individuals are Rational

– Individuals are rational
– They are motivated by goals that express their 

preferences
• But you can’t always have what you want!

• Goals are shaped by constraints and 
incentives like
– Other competitors in the market
– Information  (which is always imperfect)
– State policy (which sometimes tries to constrain the 

individual for the good of society as a whole



Goals

• Can you achieve your goals more rationally by 
cooperating with others or by striking out on 
your own?

• We make these calculations all the time…..

• Often whether we cooperate or compete 
depends on the size of the group we are 
participating in



How rationality is different depending 
on the size of the group

LARGE GROUPS

• the typical participant won’t 
cooperate that much—it’s not 
rational

• If cooperation is tried, there 
will be lots of free riders 

• No social costs for narrow self-
interested behavior

• Large groups trying to 
cooperate can’t act efficiently

• Selfless behavior is not even 
praiseworthy. 

SMALL GROUPS

• More social incentives
• Selfless behavior is rational
• Transparency
• Reputation
• Social pressure
• Interaction
• Trust
• consensus



Markets allocate resources in large, impersonal 
groups that don’t require coordination

• Rationality is different in large groups than in 
small groups

• Large groups encourage self interest

• They discourage cooperation

• They encourage competition

• Markets depend on self-interest and 
competition to provide the efficiency that 
produces wealth



One group of liberals believe that “large group” 
rationality is endemic to human nature

• Most incentives encourage narrow, self-
interested rationality

• Our very nature discourages cooperation



Game Theory: Life is just a Game!

• In the theory of rational choice, these situations can be modeled as a 
game

– Model: a simplified version of reality

– Game: a model of strategic interaction defined by

1. Players (or actors)

2. Strategies:  plans of actions for all players that set out what 

player i does under all possible contingencies

3. Payoffs: We want to win the game:  competition



Game of Achieving what you want :  The Stag 
Hunt---

• In the the "stag hunt,”, two hunters must each decide whether to hunt the stag together or 
hunt rabbits alone. Half a stag is better than a brace of rabbits, but the stag will only be 
brought down with a combined effort. Rabbits, on the other hand, can be hunted by an 
individual without any trouble. 

• There are two rational outcomes to the stag hunt: Either both hunters hunt the stag as a 
team, or each hunts rabbits by himself. Each would prefer to cooperate in hunting the stag, 
but if the other player's motives or actions are uncertain—can we trust the other guy to come 
through?--, the rabbit hunt is a risk-free alternative. 

• Runs on banks and drops in the stock market can be explained by this analogy

• Those who withdraw all their money from banks or sell their stocks have decided to hunt 
rabbits. If they had confidence that other depositors would stay with the bank, there's not 
much doubt that their money would be safe. When they lost that confidence, the stag hunt 
was abandoned. And despite all the talk about panic, it was abandoned for perfectly sensible 
reasons. 

http://www.gametheory.net/dictionary/Games/StagHunt.html


Cooperation is always optimal but rarely achieved:  
Here is what the calculations look like:

• Let’s assume capturing a rabbit gives a payoff of 3, capturing the stag gives a payoff of 5 to each person, and capturing 
nothing is a payoff of 0.

• By nature of the game, if a player pursues the rabbit, he’s guaranteed a payoff of 3.
• On the other hand, if a player pursues the stag, the payoff depends on the other person’s choice. If the other person also 

chooses stag, then the stag is captured and each gets a payoff of 5. If the other person chooses rabbit instead, then the 
player captures nothing and gets a payoff of 0.

• The game can be solved by looking for the best responses. For each choice the other person might make, consider what’s 
best for you. A Nash equilibrium occurs when both players are picking best responses.

• What are the best responses? There are two choices to consider.
• First, consider if the other person picked stag. In that case, it makes sense to pick stag (5) over rabbit (3).
• Second, consider if the other person picked rabbit. Now, it is more sensible to pick rabbit (3) rather than stag (0).
• The best responses for each player are:
• –Rabbit is a best response to rabbit
• –Stag is a best response to stag
• This leads us to two Nash equilibriums in pure strategies (no mixing): both picking stag and both picking rabbit.

• What’s going to happen?
• The above analysis means there are two reasonable outcomes. It is possible both players go for rabbit, or both players go for

stag.
• This is a comforting solution as it demonstrates selfish incentives can produce social cooperation. Because the stag is a large 

prize, it’s possible both players will cooperate and achieve it. In fact, this outcome is the best–each player can be made better 
than the rabbit outcome. Hence, the stag outcome is said to be Pareto optimal.

• But is there something wrong with this outcome? On closer inspection, you might realize the stag equilibrium is risky.
• If you pick stag, and the other person does not match you, you end up with nothing. If you were a real life hunter a few 

hundred years ago, you might feel embarrassed. You would have to go home to your family and explain that you had a 
chance to bring home rabbit and feed everyone, but you instead were going for the big prize and failed. And the reason 
everyone is starving, you would suggest, is that your partner was stupid. I imagine such answers were the source of many 
domestic arguments.

• The rabbit equilibrium is less risky, and in this particular story, it has no risk. By choosing rabbit, you are guaranteed a tasty 
meal and a payoff of 3, regardless of what he other person does.

• This is why the rabbit equilibrium is called risk dominant. Although it has lower payoffs to each party than stag, picking rabbit 
might make sense because it is the “safe” option. 

cooperate

Defect

YOU

ME

http://www.gametheory.net/dictionary/ParetoOptimal.html
http://en.wikipedia.org/wiki/Risk_dominance


Our calculations about whether to go off on our 
own or cooperate are dependent on what 

others do



That’s a second game: Strategic 
interaction and the prisoners dilemma

• There’s a HIGH Payoff, a SUCKER payoff, and LOW payoff
• With those outcomes, the logical choice is to defect from the advance agreement and betray 

your partner. Why? Consider the choices from the first prisoner’s point of view. The only thing 
the first prisoner cannot control about the outcome is the second prisoner’s choice. 

• Suppose the second prisoner remains silent. Then the first prisoner earns the “temptation” 
payoff (zero years in jail) by confessing but gets a year in jail (the “high” payoff) by remaining 
silent. The better outcome in this case for the first prisoner is to confess. But suppose, instead, 
that the second prisoner confesses. Then, once again, the first prisoner is better off confessing 
(the “low” payoff, or two years in jail) than remaining silent (the “sucker” payoff, or three years in 
jail).

• Because the circumstances from the second prisoner’s point of view are entirely symmetrical to 
the ones described for the first, each prisoner is better off confessing no matter what the other 
prisoner decides to do. 



The problem is imperfect information

• There are two players, Row and Column. Each has two possible moves, “cooperate” or “defect,” corresponding, 
respectively, to the options of remaining silent or confessing in the illustrative anecdote above. For each 
possible pair of moves, the payoffs to Row and Column (in that order) are listed in the appropriate cell. R is the 
“reward” payoff that each player receives if both cooperate. P is the “punishment” that each receives if both 
defect. T is the “temptation” that each receives if he alone defects and S is the “sucker” payoff that he receives 
if he alone cooperates. We assume here that the game is symmetric, i.e., that the reward, punishment, 
temptation or sucker payoff is the same for each player, and payoffs have only ordinal significance, i.e., they 
indicate whether one payoff is better than another, but tell us nothing about how much better. It is now easy to 
see that we have the structure of a dilemma like the one in the story. Suppose Column cooperates. Then Row 
gets R for cooperating and T for defecting, and so is better off defecting. Suppose Column defects. Then Row 
gets S for cooperating and P for defecting, and so is again better off defecting. The move Dfor Row is said 
to strictly dominate the move C: whatever his opponent does, he is better off choosing D than C. By 
symmetry D also strictly dominates C for Column. Thus two “rational” players will defect and receive a payoff 
of P, while two “irrational” players can cooperate and receive greater payoff R. In standard treatments, game 
theory assumes rationality and common knowledge. Each player is rational, knows the other is rational, 
knows that the other knows he is rational, etc. Each player also knows how the other values the outcomes. But 
since D strictly dominates C for both players, the argument for dilemma here requires only that each player 
knows his own payoffs. (The argument remains valid, of course, under the stronger standard assumptions.) It is 
also worth noting that the outcome (D, D) of both players defecting is the game's only strong nash equilibrium, 
i.e., it is the only outcome from which each player could only do worse by unilaterally changing its move. 

• n game theory, if no player has anything to gain by unilaterally changing strategies, the game is said to be in a 
Nash equilibrium.



And imperfect information leads to 
behavior that causes social costs



Why so much doping?

NO DOPING
Low Payoff

Column gets 
High payoff 
because Row 
is a sucker 
and gets 
nothing

Row gets High 
payoff because 
Column is a sucker

We both dope because
At least we get something



Each of us, acting rationally, 
contributes to climate change

• Climate change will cost us trillions

• Climate change is endangering our life
Climate change will kill many plants
Climate change will destroy rain forests



Cooperation is optimal

• You get more meat by all chasing the stag 
together

• You can mitigate climate change if everyone 
cooperates to do so

• You won’t ruin sports if everyone cooperates 
to reject doping

• But if you are rational, what are your 
incentives to cooperate and reduce your own 
freedom?



So if cooperation is optimal, how do 
you get it?



You gotta have trust

• it is very hard to move from the low-trust situation, in 
which both prisoners confess, each hunter chases his 
own rabbits, --or everyone drives their car as much as 
they want---to the more trusting situation, in which 
both team up to get a light sentence,  to bring down 
the stag—or everyone together stops climate change. 

• You try to achieve what you want on your own because 
the risk that others will defect from cooperation is too 
high

• If you have trust, you recalculate your risk of 
cooperating---trust lowers your perception of risk



How do you get trust?

• Any move to the high-trust environment is 
going to require its own, possibly costly, 
attempt at coordination. 



Can only higher authorities coordinate, change risk,  
reward calculations and create trust in large groups?

• Trust reduces our “transaction costs” in groups

• That’s why we have institutions to help create 
cooperation

• institutions formalize trust and thus  dramatically 
expand our ability to interact with those beyond 
our immediate neighbors.

• That’s why we have laws and law enforcement



Governments coordinate economic activity 
when uncoordinated markets “fail”

•Prosperity
•Transition
•Trough
•Recovery

?

Governemt
“bailout



But are governments really the best solution to 
cooperation in large groups?

Some liberals say No: Governments don’t have good 
information and they make big mistakes

Take this example

• :
• Pesticide Drift and the Coase Theorem
• Two farms are next to each other. The brussels sprouts farm uses pesticides; the herb farm is seeking 

organic certification. When the pesticide is deployed, the wind or fog may blow pesticide onto the herb 
farm, destroying its organic status. What result?

• According to this article, $1M in damages to the organic farm. At the same time, there is apparently a 
California code that says a pesticide user's responsibility ends as soon as the chemicals are deployed, 
and a county investigation exonerated the brussels sprouts farm of wrongdoing.

• So what gives? This seems like a classic application of the Coase Theorem, which says it shouldn't 
matter if the brussels sprouts farm has the entitlement to deploy pesticide or the herb farm has the 
entitlement to run an organic farm without worrying about pesticide drift because the parties will 
bargain with each other to achieve an efficient outcome. However, it's interesting to see that California 
law expressly gives the entitlement to brussels sprouts farm, privileging chemical use over organic 
farming. Sounds like maybe a little rent-seeking took place.

Herb Farm that wants 
organic certification

Brussels Sprouts farmer 
using pesticides 

http://www.mercurynews.com/centralcoast/ci_10599035


Some liberals say NO: Governments don’t have 
good information and they make mistakes

Brussels Sprouts Farm using 
pesticides

Herb Farm that wants organic 
certification



Coase Theorem

• . So, for example,  I should have the right and freedom to play 
my piano whenever I want, but my neighbor has a right to 
peace and quiet. According to this theorem, if people could 
bargain at low cost, there would be no problem of 
externalities and, indeed, the outcome would be the same no 
matter who had the rights

• Or we could use the market to solve the problem
• My neighbor calculates what his peace and quiet is worth and how much he is 

willing to pay me for it
• I calculate the cost of restrictions on my playing
• We come to an agreement on the price of peace and quiet
• And my neighbor pays me to restrict the times I’m allowed to play



Important role of Information

Action

↑          ↑

Desires←Beliefs

↓          ↕

Information



Let’s look again at the problem of illegal drugs 
and try to bring all these things together



Supply is abundant…..



Production costs are low…..



Processing is easy and cheap….



Demand is High and steady despite 
illegality (repressed supply)



Market is large



Price should be low because 
production is cheap and demand high

• Assumption: price is determined by the 
quantity supplied and the quantity demanded



If supply and demand both become 
illegal….demand and supply are repressed, 

raising the price

Risk of arrest, jail, destruction of supply



Illegality creates rational incentives to 
produce cocoa…..

Corn:  $150 per 
acre
Livestock: few $ 
per acre
Cocoa: $5-10,000 
per acre

What  crop 
would a 
rational farmer 
grow?



And it’s rational to sell it…..



So…applied to the drug trade:  Illegality and high prices 
create drug lords with market monopoly.  Monopoly 

creates…..

Obscene profits for drug lords



At the very least, the state should legalize the drug 
trade because illegality leads to monopolies and  

Monopolies oppose freedom

• Because they limit alternatives for 
consumers

• Because they block competitors from 
entering a market

• And therefore block freedom of 
exchange



And it gets worse:  Govt. efforts to make the market 
illegal means using the military to try to get rid of the 

market



And imposing Harsh Penalties for 
participating in the market

• Remember, the liberal believes 
that coercion in any form, by the 
state, is wrong.  ---particularly 
whenever it can just as easily be 
replaced by voluntary exchange.  
Coercion cannot win the drug war 
without undermining human 
liberty and individual freedom.



And fostering corruption of law 
enforcement……



And creating a nightmare of jails filled with casual 
drug users…..



All adding up toGovernment
Repression of Freedom



So some Economic Liberals believe: The War on 
Drugs suppresses Freedom…



What would the Coase theorem say?

• When drugs are sold, we are in the presence of a voluntary transfer of property;
• when the transfer is consensual, the risk of inefficiency is low because the parties are engaged in 

interaction.  
• But the consumption and sale of drugs generate externalities that affect third parties. (what could those 

be?: illnesses fostered by drug consumption, addiction leads to lack of productivity and responsibility etc.)  
Even if the two parties improve their circumstances in the course of a drugt exchange, they diminish the 
welfare of those who may have to suffer the consequences of consumption.

• Whose rights are more important?  The rights of traders in the market or the rights of third parties to live 
in a world without drugs?  

• The Coase theorem would say that drugs can be consumed but calls for compensation of victims in cases 
where drug consumption generates negative consequences for third parties. The parties should negotiate 
freely.  Drug dealers must pay for addition treatment, just like cigarette manufacturers should pay for lung 
cancer treatment


